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(g fr £ 4 R R SRR GROSS HDCP  NET & = B 7 K ra HEEOR SR GROSS HDCP  NET fis E
B B WM\ ES 41 42 83 14.4 68.6 4 B OFH 39 44 83 8.4 74.6
EER Ik =T 39 40 79 8.4 70.6 2 HFf = 43 46 89 14.4 74.6
Mo LT IERR 46 = 55 101 30.0 71.0 4300 KR BE 44 45 89 14.4 74.6
afin g ) 45 44 89 18.0 71.0 4407 FH b 47 48 95 20.4 74.6
,,,,, 5hr TEiE B 44 4 89 18.0 T71.0 /hn AA W/ 41 42 89 14.4 746 R
6y HE &Hit | 38 39 77 6.0 T71.0 46z RH Ek 55 = 46 101 26.4 T74.6
(LAY N =V=5 46 41 87 15.6 71.4 AThL TERE BH 43 45 88 13.2 74.8
CIVANL SR 43 43 86 14.4 T71.6 480 (iR BUR 45 43 88 13.2 74.8
ofin R ERR 40 45 85 13.2 | 71.8 496 EF B 41 41 82 7.2 74.8
CMOfEY BEAT 46 4 90 18.0 | 72.0 50fL A M 50 50 100 25.2 748
1E = Bk 48 42 90 18.0  72.0 S1AL [k ERR 44 44 88 13.2  74.8
1267 /NE E 46 43 89 16.8 72.2 52(iL  KF Foth 41 41 82 7.2 74.8
13z R winb 41 42 83 10.8 72.2 5L EAT FE 46 48 94 19.2  74.8
4 FAR R 41 47 88 15.6 72.4 SAfL 1By E 46 42 88 13.2 74.8
I5fi A @ o 41 47 ] 88 15.6  72.4 5L Rl T 4 3T 8l 6.0 75.0
16fiL ¥ #EZ 46 47 93 120.4  72.6 56z 7H)Il EH%E 42 45 87 12.0 75.0
1707 I 47 @ 52 99 126.4 72.6 5707 /NE Rz | 46 46 92 16.8 75.2
18T | #hA 41 46 87 14.4 72.6 58(i. KREFH fE— 43 43 86 10.8 75.2
1902 HE iR 41 40 81 8.4 72.6 5oL M B | 53 45 98 22.8  75.2
206 Ak —tb 38 43 81 84 726 60AL Ak EM 48 1 44 i ] 92 16.8 7.2
21 FE BRE 44 48 92 119.2 | 72.8] 6L WE Al 43 49 92 16.8 75.2
22 B &F] | 51 46 97 24.0 | 73.0 62iL Il HK 43 43 86 10.8 75.2
23 TR E& 40 44 84 10.8 73.2 63iL A HF 52 = 45 97 21.6 75.4
24 /HFT WA 45 44 89 15.6 73.4 640 HE PE— 52 51 103 [27.6 | 75.4|
2560 BAT H 39 50 89 15.6 73.4 65 Kix w2 42 43 8 9.6 T75.4
26fL HR RF 46 43 89 15.6 @ 73.4 660 & EAT 49 47 96 20.4 75.6
27hL | & Bl 50 49 99 25.2 73.8 67, FoE —# 51 51 102 26.4 75.6
28 EHH HAE 40 = 47 87 13.2 173.8 68 T =L 44 46 90 14.4 75.6
20 BH f#Z 43 44 87 13.2 73.8 690 EiE E 43 41 84 8.4 75.6
30fin BEA —% 4 83 98 24.0 74.0 TORE EA EfE 41 42 83 7.2 758
3L fEH 47 = 51 98 24.0 74.0 U HER E— 44 = 45 89 13.2 75.8
R2fL BE ME 40 46 86 12.0 74.0 207 Bk T 48 47 95 19.2 75.8
L KT FEA 46 46 92 18.0 74.0 3 mEF OFE 42 41 83 7.2 75.8
AL BEH FH 41 @ 44 85 10.8 74.2 4 HE ER 52 49 1101 25.2 75.8
35hL VH Eff 43 48 91 16.8 74.2 shn KAt 1 |46 . 48 94 18.0 76.0
360 M EAHES 46 44 90 15.6 74.4 76 IRFEF  FEiE 40 42 82 6.0 76.0
3TfL (Ll BL— 50 52 102 27.6 74.4 TR R 3K 47 = 53 100 24.0 76.0
8L B Foz 42 42 84 9.6 74.4 T8fir HTEY &M 48 51 99 22.8 76.2
9L = T 50 46 96 21.6 74.4 O R ER 46 47 93 16.8 76.2
| Moz Hff RE 50 46 96 21.6 74.4 80fiL fERE f&F 52 = 47 99 22.8 76.2 )
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(g 2 K 4 R R ShEE GROSS HDCP ~ NET B & iE T K 4 R R SRR GROSS HDCP  NET w = )
SIfL AT FuZ 4l 46 87 10.8 76.2 121 #®F & 48 46 94 15.6 78.4
82fir )il BAIR 47 46 93 16.8 76.2 122(if | +AE =F 56 55 111 1 32.4 78.6
83 BEEF i | 48 44 92 15.6 76.4 12307 A1 | 52 | 53 105 26.4 78.6
84fiL Il AT 42 . 44 86 9.6 76.4 1247 WO FazE ‘ 43 50 93 14.4  78.6
B AN e 7 R 67 52 109 32.4 766 12500 7R BEE 42 50 92 132 788
86fiL YEFH FEE 49 42 91 14.4 76.6 1260 FHE |Z 51 52 1103 124.0  79.0
87TiL HWH AT 44 47 91 14.4 76.6 12707 oL EE 58 51 109 30.0  79.0
88fi fali & 47 44 91 14.4 76.6 12807 B #’= 51 49 100 20.4 79.6
8L BA HIT 44 47 91 14.4 76.6 1207 b 1 54 57 111 31.2 79.8
90z R tkE 48 43 91 144 76.6 0L wIE EE .5 49 99192 79.8
91fL EIL  HER 54 48 102 125.2  76.8 1310z A& AF 47 52 99 19.2 79.8
927 | REA R 50 46 96 19.2  76.8 132, w0 | 51 | 53 104 24.0  80.0
937 FRHE M 52 55 1107 130.0 | 77.0 1337 % M 53 51 104 24.0  80.0
MU g fE= 46 49 95 18.0 77.0 1346 | £ w=E 43 | 55 98 18.0 80.0
95fp *Fm ESA4 47 83 100 228 77.2 | I35 Ml W o4 81 92 12.0.80.0
96fL Il ik 46 48 94 16.8 T7.2 1360z AfRL & 50 48 98 18.0  80.0
97 BIE FOR 45 43 88 10.8  77.2 137z HH BT 56 52 | 108 127.6  80.4
98hr VEK R 47 46 93 15.6  T77.4 138fiL | HEAT =+ 55 : B7 112 31.2 | 80.8
990z Fok HElA 46 47 93 115.6 | 77.4 139z EH TF 52 60 112 131.2 | 80.8
Toofr mFt #EEF 0 I 48 4 | 93 166 77.4 wofp EM OER 49 50 99 180 8.0
1017 ZF)I FEE | 48 45 93 |15.6  77.4 14167 1B 54 41 44 85 3.6 81.4
10207 & E— 56 48 104 26.4 T77.6 1427 R R 55 54 109 27.6 81.4
103i. HFH tiA 44 54 98 20.4 77.6 143z Frkr B 56 46 1102 20.4 81.6
1042 BB WD 47 45 ‘ 92 14.4 T7.6 14407 &% Bk 57 49 106 24.0 82.0
s Ff5 R 0 49 49 98 204 776 ‘wshr o oEeE 48 52 100 18.0 82.0
1060 Rk =T 43 49 92 14.4 T77.6 46 EFE fBK 54 46 100 18.0  82.0
107z AiHE ¥+ 45 = 47 92 14.4 T7.6 UL A B 50 54 104 21.6 82.4
10862 /N B— : 48 55 103 125.2 | 77.8 1487 #23r Fn5 47 50 97 14.4 82.6
10967 &HH &— 43 = 48 91 13.2 T77.8 14907 i+ FEH b3 42 95 12.0 83.0
1ofe & Test 48 48 96 18.0 78.0 15060 AT & .., 48 82 100 16.8  83.2
1 R #1+ _ 48 54 102 24.0 78.0 1517 WY B 65 @ 52 117 33.6 83.4
1126 /IR i 48 = 48 96 18.0 78.0 152fir /AR & 58 51 109 25.2 83.8
1132 [EH  FEL 50 46 96 18.0 78.0 163 HAk HE— 62 = 62 124 36.0 88.0
14400 i BEET 53 49 102 24.0 78.0 154012 /MR EF 74 68 142 36.0 106.0
vsfir <% B 93 .60 113 34.8 78.2
11607 ARE E— 45 44 89 10.8 78.2
1176 A48 & 47 48 95 16.8 T78.2
118z K =— 42 47 89 10.8 78.2
1190z AhFF 3R 52 49 101 22.8 78.2
1206 )1 BEET 49 52 101 |22.8 78.2
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